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There it is as the reason was taught, etc. — 991D RAYY "InpT N7

OVERVIEW

X217 explained that "7 777 " always maintain 77°72 ¥, and the reason why one
may not separate 2"170 from the wine utilizing 777°72 is out of concern that ¥p2’ Xnaw
717, Our MdOIN reconciles this statement of X271 with a seemingly contradictory
statement.

Mmoo anticipates a difficulty:
- 11"19’) PYY PYUNRY 12T DIYN RNYVL N2 YIDN (3,19 97 pary) 192999 D92 9992

X217 in P29p» ¥o2 P15 explains the reason why w"1 "1 disallow separating 1"
from the wine, is because we require a @&, whose remnants are noticeable.’

mooIn responds:
:N9 29 NAYL P07 393 0NNT N >H59Na AR Y9INTI Na9 D) BNNT AN

And it seems to NdOIN that there in 1217y the X®9%3 is 739 not X217 (like here),
since 2N is cited after him (727), and furthermore the X923 there also
concludes the reason given here of 7171 vp2> xnw.

SUMMARY
It is (presumably) 7127 who (seemingly) maintains the requirement of 2°723°1 77°W.

THINKING IT OVER

Mmoo ‘proves’ that the X073 there is 7127, since 7°7N2 X =»x7.° However there
»ax is challenging X271 (who stated 0122 7%),° so obviously X is cited after
X27. How else could it be! What is 9010 proof?!

! See (2,79) 571 1"7 "o TIE footnote # 13. The 710 writes regarding 70 nwHo7 (in 7,7 [2°09Ww] 2°127) that nowRA
131 7137; meaning it is the first of what follows, therefore it requires a 0°12°1 7w nwX1 (that at the time of the
n"n nwaoi we can differentiate between the n"1n and the remaining 1°2117). Therefore even if we maintain 77>32 v,
the »"17n will not take effect (by 51 7 np127) because it is not 0*13%1 77°w; we do not see which is the n"1n and
which remains as 7211.

* The question is that here X217 explains it because 7177 ¥p2> X2w and there he explains that we require 21221 PIWY.

? Usually when we cite X271 »2x we first cite *»2X and then x21. However regarding 727 (who was the teacher of »ax
we cite 2K after 727. See (however) ‘Thinking it over’.

* Even if the X071 there is X2 there is still no difficulty. There, X271 gave the true reason of w"™ *"1 that we require
11271 77w, However it is possible that »"7 will not agree to this 7w"7 (like the question of *"aX there, w">Y),
therefore w" °"1 argued that it is still MOX because 7117 ¥p2 y»w as the ¥n°"12 states. In our X3 where we are
discussing the Xn™72 so X217 utilizes the reason of the Xn>1723, namely 7137 ¥p2° RdW.

> See footnote # 3.

® See footnote # 1.
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